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Name:

FIRST YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2O 19

Part - III
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

Maximum : 60 Scores

Answer all questions from I to 8. Bulh"ot'
carries I score. (8xl=8)

Tinre:2llours
Cool-off Time : l5 Minutes

l afl coarer g s3ruro3cmoi m3gg
ondlcmoccno oolenJl6 cmc$ orOem".

a) a;co:u'aat;ao"
b) oaucojlotmi eot3ao"

c) or Ocg cor"crocrd eu3ao"

d) or6cg cor"nucrd cilc5er6ad eot3ao'

uteriscd Accounting li8

I o3root 8 ruoocoJgg o€)flc o-.u1"*oa*$ore
gonDoooeJ<oJa. I caycd cr.floro. (8xl:8)

l. Debit Note is the basis for rccording in
a) Cash Book
b) Sales Book

c) Purchases Book

d) Purchases Returns Book

General Instructions to Canditlates :
. There is a'Cool oLf time'oJ l5 ninutes in atldition to tlte vt.iting time of 2 hrs.

' You are not allowed to vvrite your olts\rvrs nctr to discuss an.tihing t'ith other,s tring
the',ool rllJ tine

. Read questions caref ll.y beftn'e an:;wering.

. Calculations, .figures ontl g aphs shotrld be .shoyn in the ansl.'er sheet itself.

. Malov-alam version o/ the question.s is olso pr.ct.ided.

. Cive eqttalions v,heret,er necess(1t-\'.

. Electronic devices ercept non progrum loblc cttlcttlator.s ore not allou,ed in the
E.ront irtttt ion Hall.

oila;c6oro1a'ciac4gg orucro;nil6cguD6[BoA :

. nfl6(lov"s 2 oen5)ao36 mrocotrcmicri o]3oero I 5 dali$ a;c6 s:co.o'ooso geneco,lnilaoJo

. p'r m.:ocororo" c 1 c.3J66B(aao" paOrOOo o6)9J(d)Ccc0C. O6gggClO3OCCOll rOrgC,OCo)O,lCrilOCOro

msoroccmc o-.lcdlg.

. gorooono3 o61v3ro3cmo51ni qmi c_lce;eunc6,1goco_qdqo o.tccoJtaoorno.

' 66rDao" aJ!er3ac6, d)1oronr,6. icnco-o3oci. n6firroi gomtroco-rotcikd roorm geirecoJlnllaoemo.
. co.rcotroncd oacorcAcomia3o mrdallco,!3one"

. GlOCtlCOJOJSg ffUne]oro- cruoojca;eoncd oacs]aoerno.

. cio-rc1coco3ac6 o-dgccD3acoro a:afloo3cet6o3ac6 oVloacot3gg ao3 paclqceniai
goJ6.06lDc|8o otrdlarcnocglkot gotccorcrdlao;clcni n_rcdi5g.
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2.

Score

The act oftransferring the bill from one

person to another is called

of bill.

a) Endorsement

b) Discounting

c) Retiring

d) Dishonour

is a situation when cash

exceeds thewithdrawn from the bank

amount of deposit.

a) Cash at bank

b) Cash in hand

c) Bank overdraft
d) None of these

is the common base for
preparing a Trial Balance.

a) Ledger Accounts

b) Journal

c) Balance Sheet

d) None of these

5. Arrange the following assets in the order

of liquidity.
a) Fumiture

c) Cash

f)ebit balance of cash book indicates

a) Favourable balance

b) Unfavourable balance

c) No balance

d) None of these

3.

b) Bank
b) Debtors

6.
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Score

ao3 cr.r;aofl olld rnl crn- oo6cocg!eaaei
enlrd ooaoco3cm 1o:o4ruoilo o o:ltdoQ

3.

o61rm3 oJlglao]cmJ

a) o-r3ooa,3cflgi

b) orllau'atendlocri

c) oJlodlaoafl

d) roomcardlaod

eoceilaft crilrm' oJlcoclefl4 roSa n5lca,u"Jlg

co3aoo orou5lar6l6oJcrn m)coo-aloJoc6m"

a) erucr{le4gg ":emo
b) o oacoJlalErq uemo

c) eotcai eccr 6lomn-o]i

d) pcrtotoccm3og

4. ao3 ool og o-r ((oo 69cocdo3rmnflm39g
oolcro3 oodlcnroccnoS6rn' --
a) oaor-hd oroaosne3ad

b) cedemd
c) olcaol 

"l1roo
d) poroocrmSog

5. iocr.6ro laonro5ld pcrllgoor3cm raodlaog

6dlar6laqa.
a) o.o0enl146 b) erucei

c) a;c.'t" d) orueni:6*ni

6. a;cnri en4aefloa ocu.rnJl6i eacacOmi cru3-oJl

"llaorrmoi
a) rarocn3ago 6rxoeJmrru"

b) tomjlader en Petc6mi

c) erucac0ndE>e

d) pcr:oonrm3qg



Score

Under which accounting concept quality

of manpower is not recorded in the

books of accounts ?

a) Business entity

b) Money measurement

c) Going concern

d) Accounting period

A

E

The financial
an accounting

a) Owners

information provided by
system is needed by

b) Creditors

d) All of these

Rs. 32,000

Rs. 6,000

Rs. 3,500

c) Management

er any four questions from 9 to 13.

r carries 2 scores.

Calculate Operating profi t.

Net profit

Non operating expenses

Non operating incomes

(4x2:8)

1[

Complete the following with suitable
Day Books.

a) Purchased machinery

for cash : .........?......

b) Purchased machinery

on credit : ....... ?......

Write one transaction each having the
following effects.

a) Increase in assets and Decrease in
assets

b) Increase in assets and lncrease in
liabilities
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7. nSl,!'i ooao"cendl ocri Grordar (or ec ooc5m'

omSosry,oaoflor3os o3ernc5laorcoo rooaorcene"

cr-gcrpaonglnfl coorogs3orocrorooi ?

a) enlm5lmad ranqf rop

b) remo raogoi cacnft

c) cmocrm nJlcrur3s64

d) oraaocen4ocdacaorgoi

8, ao3 oroao'cendlocri m.:1m: ecoro

m;cmt ronfla crjlcrJ o e6B c,a

ogrr:ro;ocernl

a) gsoruo6

c) occmeioocfr

mrda3cm

CD

b) o6,orJlc6drd

d) pcrerco6co

9 ojrord l3 cuoo c-a.rca;sungilnfr ogo<oolago

4 o6lsgoroln; gorooooeJoJa,. 2 aq;c6 olloro.

(ax2=8)

9. tuodorom acGo ar6lDeocaoJ&.

ola6aceo 32,000 o3"-r

1o-rclaorocmroo o-o:ero4oc6 6,000 o3n-l

1o-rclaorocmroocltoo4a,ca 3,500o3.!.t

10. onm3ccoce;ocor ccu.rea3ae5locfl co-toov3ofl

pcdl gocoJrmoi o4r6lXf ao3a,.

a) ooodmc! o-lemo

mrdail crceor5l

b) oooflmc5l

asoccoll clceorjl

ll. rocos oJo@Jo'n Me.r60BqlqB ocaoc pso-.tcs"

ooeJ(6)Jar.

a) GroflArl cudalmcorSo roroqilcolloet a,3crrgo

b) oocr$ cr6anrnco3o erucu.5co n.:6anmcor3o

?......

,|



Score

12. What are current assets ? Give t*'o
examples.

13. Il SGS] is 9% and CGST is 9%,
journalise the lollowing transaction.

"Purchased goods rvorth Rs. 5,000 lor
cash"

Answer any three questions from 1d to 17.

Each carries 3 scores. (3x3=9)

14. When a bank reconciliation statement

begins with overdratt balance as per cash

book, whether you ADD or DEDUCI'
thc following transactions ?

a) Intcrest on overdrali

b) Bank charges

c) Payment received from a customcr
directly into bank.

Write any three differences between

Reserve and Provision.

Calculate Cost ofgoods sold and Gross

profit lrom the given inlormatiott usi:te

suitable lormula.

15.

16.

Cash sales

Credit sales

Purchases

Opening stock

Factory expenses

Closing stock

Rs. 24,000

Rs. 36.000

Rs. 16,000

Rs. 8,000

Rs. 2,000

Rs. 12,000
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Score

12. oomrdlocasJlaca o6;crorcem' ? o6rc" gBcoo@

emeracO maflo3a.

13. SGST9%, CGST9%,ru@o6rne{ld pctfl
goo3cm psolcdlorfl c*6erno? o61c6151

o{)elal)J6.
"o.i6mo rnrdal 5,000 o3n-l oJla olo3rm

mcomear:cb crcoudl"

l4 oJoxti l7 ruoo e-aice;erBEllcf, o6ioroailoJo

ogormeSqoruilni g(onDoo oOeJ@16,. 3 ea}c6 oJko"'

(3x3:9)
a;cnri rn:^,*s1) et " o:o.l61olc"-oi3 erucarflml3

63qE" cl. ;r:- c ai ro'romSoeem o:$a
T. :-i n-.: -:n. orr5lgcxogrmpe".-rcs3a,c8

5t-c€ a---1., alocoisoeemc og;mi o6v3al3a.

a ) eccrOlrucorr-frlm;gg oteico

b t ;-r:cmi -crcdqlac6

c ) e cJ go-lccceloccrllnfr cr51cm- cmr6l3' olemo

eolcoiaft err4l 94.

o-rr --6clr". o(c.]ccrjrgn1 nocn ol tooola3gg

o6o".oriego 3 cr.So5cnueuaca o6v3co3a.

rorrri olao3cm oJlc!oe6B$d cDl.mJo cacmi

acon" olJCuJ'm)'cmlccarui, oocir]T) el c reo

.oo'r,1Qr Grd cnJG or c aJ o c ccr fiuet(, o.l c 6Jo

gn-rcco-)ccrJlo;i a6ID ao C eoJ6.

alcov'arnuol1aflmi

er1ao.!6 ocroollnflmi

o-.l6cgcokrumi

ocgenf o(d cp.;cao"

om6r5l o66pgcaoud

c6pqLf ocd cg.;caei

24.000 o.i.-

j6.()()() r:-_

16.000 o3.,r

8,000 o3nr

2,000 ogn-r

12,000 o3o.r

15.

16.
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Score

7. Identilythe accounting conccptmentioned

in the following statements.

a) Businessman is the creditor of the

business to the extent of his capital

b) Life ofa business is broken into

shorter timc interva ls.

po int of

a) Salary paid Rs. 4,000 was debitcd to

Sundry ExPenses A/c.

b) Cash received frorn Mohan Rs 2,000

u as posted to Sohan A c

c) Credit sales to Arun Rs. 3,000 rverc

not rectlrded.

d) Purchase book under cast by Rs' 500'

19. Match the follorving :

Score

17. roco.r oacs3orofl rdlao3rm pcr}cclma$nfl
ol3-oi Jf 4ggg raooocen4lo<n"orornorc olldl4

c5lcor3a

a) enimSlcncp3a,roc6 roocfr nge r6cpotiloQ

otr6lu5l cltoo enjlmJlmcgf ocfr a'saocomcon'

b) oo3 enJlm5lmcfflo@ dloJlor aca'e5o
a3oaroro cruocor pscclga'gcoll oJleCl4fl

rdlao3cm3.

c) crjoJoccnooro oroooila'r6lao3rmoi ojlaflo':m

m;oo.rro,ocemi.

l8 o;orcfl 20 cr.roo o6lgc c-alce;euntiactlo

gorooaoeJoJa. 4 cn12c6 oJl<oo' (3x4=12)

18. oogad ofloSoro3a.

a) 4,000 o3o.l crucetc5l oacs3orooi crueraldl

o6laidogc6auau ooaomndld ocuenJl6i

oiiq4
b) cocnocrllrd cr5lcni erdlq 2,000 o3n-r

ccrucooocfl onaocen4d cn.jc$ o-oqg'

c) omo3enflcri asoroflnfl crJlnftolm msoroilor

3.000 o3n-r coouogs3raroflcoll$g'

d) o]{.6tc4cokumi 5rr]Ja6td 500 o3o'L agooJ

aceniaoScm3.

19. c-c.ro3oudl c-l6ao3a :

c)

slve

chc

t.R

In

rlu

1t

sed at th

r l8 to 2

errors.

fro
x4:12)

ep

0.

(3

recog

ns fro
'es.

lowiri

estio

e ls

stio

sco

:fo

ue

es

ls

te

ent

qu(

,s4

rth

e\e
rl e.

llq
ries

ifv

) Re'

sah

er all

carri

lectif

er

gni

'o lT

llg

rns

res

llorI

Payment of bill before maruntY

acercclu, o4dordlcocao3cmo5lai ogcrl' enloS orosgd

Retiring of bill
enjlnfl ojlooilaocd

.hr.nt of bill froll bank befbre rnaturity

acaccluJlao- ogmj- enrceojlafl o{lmj enlko? o.]emocael oc6ol

Discounting of bill
enjld cujmistene"

oargafl

E-t.r,l,.g th. .^tr.,ty period by cancelling an old bill

oromosoi ocaco]o5l r5l6'elgf ao3clcc6 oo3 o-lvco)

enJl6iom o€caolcml

Dishonour of bill
enjkd crilocadlaod

Non paytnent of bill on rnaturitY

acetccllu5l,r46orof1tocao3eocr.0 enllo? raosglcnflr0aord
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Score

20, Joumalise the following ffansactions'

1) Withdrew cash from bank for

domestic use Rs' I ,200

2) Paid cash to Anil Rs l,800 and

settled his account for Rs 2'000

3) Paid rent bY cheque Rs' 1'000

4) Withdrew goods Rs' 800 for

domestic use.

Answer any three questions from 2l to 24'

Each carries 5 scores' (3x5=15)

21. Enter the following transactions in a

SimPle column cash book for March

2019.

01 - Cash in hand Rs 6'000

07 -Purchased goods Rs' 1'500

l0 - Paid rent Rs 400

12 - Received a cheque

from APPu

19 - Received commission

24 - Deposited into bank

account

28 - Sold goods for cash

30 - Withdrew cash for

personal use

Rs. 2,400

Rs. 200

Rs. 3,000

Rs. 4,800

Rs. 1,200

.",. .'--ii.*i,l:&:i*&Br*'3'

rlllllllllllllllllililillllfllllll

Score

20. gcnlgooScm psorcsleglos csdemrd

oglc61dlac6 o6tr3ro3e'

1 ) oJlyomlcaruslmccojl erucrilao cJlcmso o-l6rDo

oJlc0cr: eJl4 1,200 o3"'l

2) oron5lellcri 1,800 o3n-l maftail onorgos

2,000 o3.lo3os oroaercena" oil6gca<51

3) clcsa o-c-rao'or$l mdail I 
'000 

q"'L

4) oJl5cctrc.'o1o'ru5lmcoJ1 800 oJo-lcollos

nucclmonca go-lcorcc/'l " 
n'

2l oJrord 24 cr.roo ca'rca;eoog!ci<r61o3*"f
qlorrnqgoYolcr, gorooo ooeiroio' t t*ijlpi tl
21. rocrrfl ol ao3cm gs""rcs3aog 2019

oc64foa 6loJ 6l6caocgo a;cnv"en-gaefl d
Goorodslolrle.

0l - ooacusooJqg uemo 6,000 o3n-l

07 - aucomoscO crrceur5l-o;3 I ,500 o3o'r

10 - crlcsa oa,csJc6lut3 400 o3n r

1 2 - rurag4ond cr5lcdooaei ar4ag 2'400 qo:

19 - a,oofl"uc6 odl-oJ3 200 ojn-r

24 - eoceild crllca,un-Jl-r4 3,000 o3.,-l

28 - .uernruroflcri mlcomanrri

oJlg 4'800 o3"r

30 - olaroll<nro oocl uo;orotl

mcoll olerno rrJlc6cuell4g 1'200 o3"'l
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Score

22. 2O1g ocdai 3 1 o@ ao3 erucei oomJosrem

o-r$a roqcocaoSa''

1) alc"ri en4aofloa erllcac6ad 4'600 o3n-l

2) mdallo oaao3ad ''j 
em osojlcri

oocgocdoc(6ro(6i 1'300 o3.)":

3) oo:ao3a'ot crfieao"Jgroi en,lcei

ccoelrdlaocorocri 2,000 o3n-L

4) ao; gucrecarocoj cmol$ erucmicd

crica.lnJ4oi 1,500 o3"-l

5) .jccRsn+aetlot ocu:enil6 olq erucoi

-rc6q1a't6 500 o3n-:'

23, 20i8 ooaf lcri ono3enb 10'000 oJor@los-"' 
n rra*nta asocoll olo3en5laicrJlrdao3crn3'

or9 ro3aao'roroo3enO orqcocaellcol 3 occruooro

en-nm cloSera crulaolao3crnj rarooSen0 oo

6nncd 9,800 oJorao' odm)"era6're" o-erqJ'

*.".-'ul rjlol-auo enJld crfloca'cdlaoogS

| ;#fttqer,4ae1toerc*aemdo6lc61dlaci
I n6o3.3*

l ro. rO,, oc6-{31-ocfr<dl'q"r1roo

| .9.*-6*'
I *yderd rooaotond 20'000 o3"L

I *t*r.;tericrd rcroaoT ene- 2'000 o3o-r

I o*.-"(l/4'2018) l2'000o1.,-r

I -a*4r"*crd ooao. ena- 18'000 o3'r

I o*condmi ooaocens' 29'000 o3or

I o*s".a* pcaeordoLr"crd 500 o3n-r

I -.1.dt*old rsoao'cene- I '600 
o3n-l

I 
".rco; 

cetcero ruroaooene" 6'000 o3.,-l

I o,r.6 Acruflcu'nri ra'oao"cenc' I '200 o3n'r

I o**t6v'nd oroao"cene" 4'500 o3n'l

I ot*n,lt*gcad ronaooene" 8'500 o3"':

I -rn*.ro6B'crd Gro6or6re' 25'000 o3c'r

I

| *** cllmJlcuerrJkicru I 
' 
100 o3''r
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Score I

22. Prepare a Bank Reconciliation Statement I
as on March 3 I . 2019' I

I ) Balance as per Cash book Rs' 4'600 
I

2) Cheques issued but not presented 
I

lor PaYment Rs' 1'300 I

31 Cheques deposited but not collected I-' *..,.*O I
r customer into I4) Direct dePosit bY t 

I

bank Rs. 1.500 I

5) Bank charges debitcd in the pass 
I

book Rs 500' I

2f. On MaY l" 2018 Arun sold q:od.t nn 
I

credit to Varun lor Rs 10'000' Arun 
I

drerv and \hrun accepted a J ntonths 
I

bitl lor the amount' Arun discounted

the bill for Rs' 9,800' On the due date

the bill was dishonoured' Give joumal

entries in the books of Arun'

;14. rrepare a Trial Balance as on 3 1" March

2019.

capitai A/c Rs' 20'000

Drawings AJc Rs' 2'000

Srock 1l/4/2018) Rs' l2'000

Purchases A/c Rs' 18'000

Sales A/c Rs' 29'000

Returns inwards Rs' 500

Carriage AJc Rs' 1'600

Bank loan AJc Rs' 6'000

Rent received AJc Rs' I 
'200

f)ebtors A/c Rs' 4'500

Creditors A/c Rs' 8'500

Buildings A/c Rs' 25'000

Bills receivables Rs' 1 
' 
100

FSE 50 AccountancY with



Answer any one question

Each carries 8 scores.

Score

from 25 to 26.

(l x8:8)
25. Kefcon Ltd. purchased a Machinery

on l" January 2015 for Rs. 2,00,000.
On 30'h June 201 8, the Machinery rvas

sold for Rs. 1,20,000. Depreciation is

provided @,10%p.a. under straight line
method.

a) Prepare Machinery Account upto
June 30'r'2018.

b) Write any 3 differences between
Straight line method and Written
down value method.

26. From the following Trial balance,
prepare Trading and Profit and Loss
Account and Balance Sheet for the year
ended 3 l,'December 201 8.

Ledger accounts Debit Credit
Capital
Cash
Bank
Stock
Purchases

Sales

Sales retums
Wages

Salaries
Furniture
Commission
Debtors
Creditors
Insurance

6,000
4,000

12,000
24,000

1.000
6,000
3,000
7,000

I 1,000

1,500

40,000

28.000

1,500

6,000

75,500 75,500

The value of stock as on 3 I ,, December
2018 was Rs.24.000.

FSE 50 Accountancy with Computerised Accounting g/g
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Score

25 ogrocfl 26 cr.roo co.rce;coB6ilcfl aooegqomlcri

goYDoo oOeJ(oJa,. 8 cnpc6. (lx8:8)

25. oaontaocofl ellol6oD 2, 00,000 o3,,.rco;3os

ao3 eroorilmcll 201 5 *m3oto1 I cri clceorJl.

201 tt u3ed 30m" rsro ooodlmcjl I ,20,000
o3orao" crl nflaogcm3. cmacoolc olojlcotlaft

I 0% clcOoda crjloaeilacern" oJelJa&oo
mota3cmro-.

a) 201 8 erern 3U r1-ooqp;jgg ooodlmcjl
@?dor6r€" rDqcoc6oJ6.

b) cm,0coelc .dlcdtcoJo mgm crrln tf orrilg'
olrallcor3o roaoia3gg 3 c!;co;c nu e^68 cA

o€)eJ(r)JA

26. ro cml oT ao3cm ooT og ot lronml d m1rm3o

2018 o.rJlauoead 3l ocfl ottrcoto-etcre-co.g

A6m4olo erucaeio-t1cocr.t3o (l')gcocdoJa.

aeror.l"gd
crDdoT6T BJa,d

oor.rsail6i o1a,arjl6

a;c"J6co?
eJcos
eniceg;

cmlc66)"

or6c4 cor"crum)-

o cru cojl rtfr crd

onucolkdo'd cilcg
er6m., "

corami
rrucgcJlcrd
ol6ernlgG

aoolosoS

ocuent",s6v'cru-

oiao-t-5lc6v'ad

pcaovSocacroi

6,000
4,000

12.000
24,000.

1.000

6,000
1,000
7,000 l

I

I

1 r.000 

|

1.s00 I

10,000

28,000

1,500

6,000

75,500 7s,s00

2018 o-r-jl cru o en1 A 3l -ocfl cg;cao" o,r)a
24,000 o3n-r cor c on".


